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o ONwSDH CHTa) . .
au@uy : X — - wSlibLemTss: 50
L : sewflgd SING 1 - 2 HAUSEED FMILSESD Gmryid: 1% wewef

I. sflurer afloLmwus CsiBEsHSS 6T(LSIS. Tx1=

1. n(Ax B)=06womb 4 = {1, 3} erefled, n(B) gz
) 1 ) 2 a3 ) 6

2. A={1,2},B={1,2,3,4},C= {5, 6} wpmud D = {5, 6, 7, 8} erersfled £Clp Qar(H&aL LL_Lmeusafled 615
sflurer samhm?

31) (AxC) < (BxD) 3b) (BxD) < (4%C) &) (AxB) = (4xD) ) (DxA) < (Bx4)

3. (a+2,4) womd (5, 2a+b) Hlw auflnss Cemg.ser Fwwb erafled, (a, b) sTarLig)

4. A={1,2,3,4} B=1{4,8,9, 10} etevrs.
emiy f: A— B syewng) f={(1, 4), (2, 8), (3, 9), (4, 10)} eTewr8; QHT(HSHILIL_L_ITEO f-6TETLIZ]

) LeveuDMed([Hba 66vTmISS e FMiyL ) FeWE FmiyL
9) eamistlaEnenes L L) o L&y

5. f:A— B syengl @muné eriy wHmid n(B) =7 arefled n(4) syerg
37 =) 49 @1 /) 14

6. f(x)=+1+x* ereufled
SN = ). SO @) SCP = (). ) @) <f(x).f() ) Qeupiied eimidledeneo

7. fx)=x+1)P°-(x—-1) miul@w eriurers
1) Coilw &miyy 3) (1 HEVIE &L 8) semevd & FirLy ) @BUigs sy

II gCzeb bz allamsseps@ allmweflssa). 5%2=10

1. Uesmeumeustreummin@ A x B wpmitd B x A goé snewis.

A=1{2,-2,3} and B= {1, -4}

2. BxA={(-2,3),(-2,4),(0,3), (0, 4), (3, 3), (3, 4)} ereled A pmitd B opfeumenmés snewrs.

R stetin e 2mey {(x, y) /y =x + 3, x € {0, 1, 2, 3, 4, 5} }erewi& Qar(sasLiLiL_(heteng. Saest
LAHILSEHOSWLD 6TFFSHSHDSU|LD SHT6TTTS.

4. feesip &miy f(x) =3 — 2x 1607 sueTWMISHILOEDSI. 1 (x%) = (f (X)) 6768060 X 206 SHETTTS.
A={2,-1,0,1,2} wpmubd [ : A — B etetip enijunesg / (x) = x> + x + 1 Guwed &nify eT6ded, B-mé
STETTS.

6. f:N — N etesp &miyL f(x) = 2x — 1 6T6wT UDTWNISSHLILILL_T6D iG] 6TTMIEH(E) 6268TDN6NT 2y 6v1me0 GLoed
&y e0enev 616518 ST (H&.

7. A=1{3,4,7,8} womibd B = {1, 7, 10} eteled Sip 2 6iten sewtmiseiled stemeu A-ed(bHHg B-5@ yeur
2_memeud GNSSTG!?

(l) Rl :{(37 7)7 (47 7)9 (79 10)7 (89 1)} (11) R2: {(37 1)7 (47 12)}
(i) Ry= {(3, 7), (4, 10), (7, 7), (7, 8), (8, 11), (8, 7), (8, 10)}
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I gCGseb wibg allamsseps@ allamweflsaayb. 5x5=25

1.

A={xeN|1<x<4},B={x e W|0<x<2} bpmd C= {x € N | x <3} et6018.
Ax(BNC)=(AxB)n (A x C) etesiuesieupenn& sfunyse.
A eievig) 8-z &flL& @emmeunesr Buwied eTevtigellesr sewibd, B ereiig) 8-z eflld @emmeunes LT
eTeutTS 66T SewvTid HMILD C 6T6vTLIG @TL WL _LILIEDL LIS 61603186681 S6u5TLD 61687160, & DS EWTL_eUMEDMEF
Fhunyss.
Ax(B—-C)=(AxB)—(AxC)
sLwellwed allgheprediaat, GClaremL eTVILLBmENS Clatewi(h  QEHEUBMLW 2 WISHmS
(Q&.15L L fled) sessadlhEpnisst. Seufaser Clungieuns, h(b) = 2.47b + 54.10 etevtp FnifenL @Hm@LI
vweTL(O\SSIFDTTEHeT. @EI@, b o eug ClgmenL se)bLleu BaTom@Ld.
(i) h oLevg ReTNISE amresT slend Candlés.
(i) OsremL et ibLlesr e 50 G&.15 steled, kg BT 2 WrSemnss Sresrs.
(iii) muflesr 2_wirb 147.96 Ql&.15 e168led, jeuiT ClFTenL ETEIDLIGT [HaTSHenss SHN6wws.
Q@ &MTL [ 608l / (X) = 2x — 3 61607 eUEmTUIMISSLILILL_T60

. SO +7(1)
O =5
(iil) ' (x) = x 616¥1l60 X -5 HTEVTS. (iv) £ (x) =f (1 — x) e16¥1l60 X -2W& SHEwTTS.

-5 G611, (i) f (x) = 0 eTEUDQUINPGI X W& SHTEwVTS.

A=1{1,2,3,4} wpmib B = {2, 5, 8, 11, 14} erevtiest @b sevvimigei 616018, [+ A — B eremiid gL f(x) =
3x — 1 e1e018 Qan(QsaLILL(DeTeng). Q&arilenes
(i) SIBLSEGSN LLLb (i) L L_euemernT
(iil) euflenss Camq.safletr sewrid (iv) euemruLLD g SlwieuHmTed &DISs.
f:[-5,9] > R etevip enjunesigy) Leteuhonm| euenrwnsasLinOEng
6x+1, —-5<x<2
f(x)=45x"-1; 2<x<6 6o cuemTuUMESLILHEDS) 616860, LeTToUHEITOUHENNE: HTETTTS.
3x—4; 6<x<9
Find (i) £ (=3) + £ (2) (D) f(7)—f(1) (iii) 2/ (4) + £ (8) (iv) HEDZJO)
JH+f(=2)

7. Qar@&slul L [ (x), g (x), i (x) pFlweunenms Caresst(® (fo g) o i =f0 (g 0 h) etesté a1 (Hs.

f(x)=x—4, g (x)=x" wHmbd /1 (x) =3x -5

IV. gCGaab pearmens @ allen_weflésab. 1x8=8

1.

) xy=24,x,y> 0 616510 eUMTLIL 60 UDTIIELD, eUEHTLIL SeHSLI LILGTLI(HSS
(i) x = 3 e16¥l60 y & smewsia HMILD (ii) ¥ = 6 6T6vled X & STewwTs.
(S160605))
&) v =20+ 3x — 4 Wt euemTULLD U, SiFeel LweL®SS x* + 3x — 4 = 0 e@D
FOETUML_ LG &THse,|LD.

* k k
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